REVUE D'ANALYSE NUMÉRIQUE ET DE THÉORIE DE L'APPROXIMATION Rev. Anal. Numér. Théor. Approx., vol. 38 (2009) no. 1, pp. 11-23 ictp.acad.ro/jnaat

BERNSTEIN-TYPE OPERATORS ON TRIANGLES

PETRU BLAGA* and GHEORGHE COMAN †

Abstract. The aim of the paper is to construct some univariate Bernsteintype operators on triangle, their product and Boolean sum, which interpolate a given function on the edges respectively at the vertices of triangle. Using the modulus of continuity and the Peano's theorem the remainders of corresponding approximation formulas are studied.

MSC 2000. 41A35, 41A36, 41A80.

Keywords. Bernstein operator, product operator, Boolean sum operator, modulus of continuity, error evaluation.

1. INTRODUCTION

Beginning with the paper by R. E. Barnhill, G. Birkhoff and W. J. Gordon [2], the blending interpolation operators on triangle were largely studied [3, 4, 5, 7, 9, 10, 16, 17, 21, 22, 24]. We also mention the applications of such interpolation schemes to computer aided geometric design and to finite element analysis [1, 3, 11, 13, 14, 15, 18, 19, 20, 33].

The aim of this paper is to construct Bernstein-type operators wich also interpolate the value of a given function on the border of triangle. Using modulus of continuity respectively Peano's theorem the remainders of the corresponding approximation formulas are as well studied. The accuracy of approximation is also illustrated by graphics of given functions and of the suitable Bernsteintype approximation.

By affine invariance it is sufficient to consider only the standard triangle $T_h = \{(x, y) \in \mathbb{R}^2 \mid x \ge 0, y \ge 0, x + y \le h\}$, for h > 0.

2. UNIVARIATE OPERATORS

Let f be a real-valued function defined on T_h . Through the point $(x, y) \in T_h$, one considers the parallel lines to the coordinate axes which intersect the edges Γ_i , i = 1, 2, 3, of the triangle at the points (0, y) and (h - y, y) respectively (x, 0) and (x, h - x) (Figure 1).

^{*&}quot;Babeş-Bolyai" University, Faculty of Mathematics and Computer Science, Department of Applied Mathematics, Cluj-Napoca, Romania, e-mail: blaga@math.ubbcluj.ro.

[†] "Babeş-Bolyai" University, Faculty of Mathematics and Computer Science, Department of Applied Mathematics, Cluj-Napoca, Romania, e-mail: ghcoman@math.ubbcluj.ro.



Fig. 1. Standard triangle.

Let $\Delta_m^x = \left\{ i \frac{h-y}{m}, i = \overline{0, m} \right\}$ and $\Delta_n^y = \left\{ j \frac{h-x}{n}, j = \overline{0, n} \right\}$ be uniform partitions of the intervals [0, h-y] and [0, h-x] respectively. One considers the Bernstein-type operators B_m^x and B_n^y defined by

$$(B_m^x f)(x, y) = \sum_{i=0}^m p_{m,i}(x, y) f\left(i\frac{h-y}{m}, y\right),$$

where

$$p_{m,i}(x,y) = \binom{m}{i} x^{i} (h-x-y)^{m-i} / (h-y)^{m}, \quad 0 \le x+y \le h,$$

respectively

$$(B_n^y f)(x, y) = \sum_{j=0}^n q_{n,j}(x, y) f\left(x, j\frac{h-x}{n}\right),$$

with

$$q_{n,j}(x,y) = \binom{n}{j} y^{j} (h-x-y)^{n-j} / (h-x)^{n}, \quad 0 \le x+y \le h.$$

THEOREM 1. If f is a real-valued function defined on T_h then:

$$\begin{array}{ll} \text{(i)} & B_m^x f = f \ on \ \Gamma_2 \cup \Gamma_3; \\ \text{(ii)} & \left(B_m^x e_{i0}\right)(x, y) = x^i, \ i = 0, 1 \ \left(\det \left(B_m^x\right) = 1\right), \\ & \left(B_m^x e_{20}\right)(x, y) = x^2 + \frac{x(h - x - y)}{m}, \\ & \left(B_m^x e_{ij}\right)(x, y) = \begin{cases} y^j x^i, & i = 0, 1, \ j \in \mathbb{N}; \\ y^j \left(x^2 + \frac{x(h - x - y)}{m}\right), & i = 2, \ j \in \mathbb{N}; \end{cases}$$

where $e_{ij}(x,y) = x^i y^j$ and dex (B_m^x) is the degree of exactness of the operator B_m^x .

Proof. The interpolation property (i) follows from the relations

$$p_{m,i}(0,y) = \begin{cases} 1, & \text{for } i = 0, \\ 0, & \text{for } i > 0, \end{cases}$$

and

$$p_{m,i}(h - y, y) = \begin{cases} 1, & \text{for } i = m, \\ 0, & \text{for } i < m. \end{cases}$$

Regarding the properties (ii), we have

$$(B_m^x e_{00})(x,y) = \sum_{i=0}^m {m \choose i} \left(\frac{x}{h-y}\right)^i \left(1 - \frac{x}{h-y}\right)^{m-i}$$
$$= \left(\frac{x}{h-y} + 1 - \frac{x}{h-y}\right)^m = 1;$$

$$(B_m^x e_{10})(x, y) = \sum_{i=0}^m {m \choose i} \left(\frac{x}{h-y}\right)^i \left(1 - \frac{x}{h-y}\right)^{m-i} i \frac{h-y}{m}$$
$$= (h-y) \sum_{i=1}^m {m-1 \choose i-1} \left(\frac{x}{h-y}\right)^i \left(1 - \frac{x}{h-y}\right)^{m-i}$$
$$= x \sum_{i=0}^{m-1} {m-1 \choose i} \left(\frac{x}{h-y}\right)^i \left(1 - \frac{x}{h-y}\right)^{m-1-i}$$
$$= x \left(\frac{x}{h-y} + 1 - \frac{x}{h-y}\right)^{m-1} = x;$$

$$(B_m^x e_{20})(x, y) = \sum_{i=0}^m {m \choose i} \left(\frac{x}{h-y}\right)^i \left(1 - \frac{x}{h-y}\right)^{m-i} i^2 \left(\frac{h-y}{m}\right)^2$$
$$= \left(\frac{h-y}{m}\right)^2 \sum_{i=2}^m {m \choose i} i(i-1) \left(\frac{x}{h-y}\right)^i \left(1 - \frac{x}{h-y}\right)^{m-i} + \frac{x(h-y)}{m}$$
$$= \frac{m-1}{m} x^2 \sum_{i=2}^m {m-2 \choose i-2} \left(\frac{x}{h-y}\right)^{i-2} \left(1 - \frac{x}{h-y}\right)^{m-i} + \frac{x(h-y)}{m}$$
$$= \frac{m-1}{m} x^2 + \frac{x(h-y)}{m} = x^2 + \frac{x(h-x-y)}{m};$$
$$(B_m^x e_{ij})(x, y) = y^j (B_m^x e_{i0})(x, y), \ i = 0, 1, 2, \ j \in \mathbb{N}.$$

$$B_n^y f = f \quad \text{on } \Gamma_1 \cup \Gamma_3;$$

$$(B_n^y e_{0j}) (x, y) = y^j, \ j = 0, 1;$$

$$(B_n^y e_{02}) (x, y) = y^2 + \frac{y(h - x - y)}{n};$$

$$(B_n^y e_{ij}) (x, y) = \begin{cases} x^i y^j, & j = 0, 1, \ i \in \mathbb{N}; \\ x^i \left(y^2 + \frac{y(h - x - y)}{n}\right), & j = 2, \ i \in \mathbb{N}. \end{cases}$$

Now, let us consider the approximation formula

$$f = B_m^x f + R_m^x f.$$

THEOREM 2. If $f(\cdot, y) \in C[0, h-y]$ then

(1)
$$\left| \left(R_m^x f \right)(x, y) \right| \leq \left(1 + \frac{h}{2\delta\sqrt{m}} \right) \omega \left(f(\bullet, y); \delta \right), \quad y \in [0, h],$$

where $\omega(f(\cdot, y); \delta)$ is the modulus of continuity of the function f with regard to the variable x.

Moreover, if $\delta = \frac{1}{\sqrt{m}}$ then

(2)
$$\left| \left(R_m^x f \right)(x, y) \right| \leq \left(1 + \frac{h}{2} \right) \omega \left(f(\bullet, y); \frac{1}{\sqrt{m}} \right), \quad y \in [0, h].$$

Proof. We have

$$\left| \left(R_m^x f \right)(x,y) \right| \leqslant \sum_{i=0}^m p_{m,i}(x,y) \left| f(x,y) - f\left(i \frac{h-y}{m}, y \right) \right|.$$

As,

$$\left| f\left(x,y\right) - f\left(i\frac{h-y}{m},y\right) \right| \leqslant \left(\frac{1}{\delta} \left| x - i\frac{h-y}{m} \right| + 1\right) \omega\left(f\left(\bullet,y\right);\delta\right)$$
ins

one obtains

$$\begin{split} \left| \left(R_m^x f \right) (x, y) \right| &\leqslant \sum_{i=0}^m p_{m,i} \left(x, y \right) \left(\frac{1}{\delta} \left| x - i \frac{h-y}{m} \right| + 1 \right) \omega \left(f \left(\bullet, y \right) ; \delta \right) \\ &\leqslant \left[1 + \frac{1}{\delta} \left(\sum_{i=0}^m p_{m,i} \left(x, y \right) \left(x - i \frac{h-y}{m} \right)^2 \right)^{1/2} \right] \omega \left(f \left(\bullet, y \right) ; \delta \right) \\ &= \left[1 + \frac{1}{\delta} \sqrt{\frac{x(h-x-y)}{m}} \right] \omega \left(f \left(\bullet, y \right) ; \delta \right). \end{split}$$

Since

(3)

$$\max_{T_h} \left[x \left(h - x - y \right) \right] = \frac{h^2}{4},$$

it follows that

$$\left| \left(R_m^x f \right)(x, y) \right| \leq \left(1 + \frac{h}{2\delta\sqrt{m}} \right) \omega \left(f\left(\bullet, y \right); \delta \right).$$

For $\delta = 1/\sqrt{m}$, one obtains (2).

THEOREM 3. If $f(\bullet, y) \in C^2[0, h]$ then

(4)
$$\left(R_m^x f\right)(x,y) = -\frac{x(h-x-y)}{2m} f^{(2,0)}(\xi,y), \quad \xi \in [0,h-y]$$

and

(5)
$$\left| \left(R_m^x f \right)(x, y) \right| \leqslant \frac{h^2}{8m} M_{20} f, \quad (x, y) \in T_h,$$

where

$$M_{ij}f = \max_{T_h} \left| f^{(i,j)}(x,y) \right|.$$

Proof. As, dex $(B_m^x) = 1$, by Peano's theorem, one obtains

$$(R_m^x f)(x, y) = \int_0^{h-y} K_{20}(x, y; s) f^{(2,0)}(s, y) \, \mathrm{d}s,$$

where the kernel

$$K_{20}(x,y;s) := R_m^x \left[(x-s)_+ \right] = (x-s)_+ - \sum_{i=0}^m p_{m,i}(x,y) \left(i\frac{h-y}{m} - s \right)_+$$

does not change the sign $(K_{20}(x, y; s) \leq 0, x \in [0, h - y]).$

By mean value theorem, it follows that

$$(R_m^x f)(x,y) = f^{(2,0)}(\xi,y) \int_0^{h-y} K_{20}(x,y;s) \,\mathrm{d}s, \quad \xi \in [0,h-y],$$

i.e.

$$\left(R_m^x f\right)(x,y) = -\frac{x(h-x-y)}{2m} f^{(2,0)}\left(\xi,y\right).$$
 Now, using (3) it is also obtained (5).

REMARK 2. From (4) it follows that

- if $f(\bullet, y)$ is a concave function then $(R_m^x f)(x, y) \ge 0$, i.e. $\left(B_{m}^{x}f\right)(x,y) \leqslant f(x,y),$
- if $f(\cdot, y)$ is a convex function then $\left(R_m^x f\right)(x, y) \leq 0$, i.e. $\left(B_{m}^{x}f\right)\left(x,y\right) \geqslant f\left(x,y\right),$

for $x \in [0, h - y]$ and $y \in [0, h]$.

REMARK 3. For the remainder $R_n^y f$ of the approximation formula

$$f = B_n^y f + R_n^y f,$$

we also have:

A. if $f \in C[0, h - x]$ then

(6)
$$\left| \left(R_n^y f \right)(x, y) \right| \leq \left(1 + \frac{h}{2\delta\sqrt{n}} \right) \omega \left(f(x, \cdot); \delta \right), \quad x \in [0, h],$$

and

(7)
$$\left| \left(R_n^y f \right)(x, y) \right| \leq \left(1 + \frac{h}{2} \right) \omega \left(f(x, \cdot); \frac{1}{\sqrt{n}} \right), \quad x \in [0, h],$$
 respectively

B. if
$$f \in C^{2}[0,h]$$
 then
(8) $\left(R_{n}^{y}f\right)(x,y) = -\frac{y(h-x-y)}{2n}f^{(0,2)}(x,\eta), \ \eta \in [0,h-x]$
and
(9) $\left|\left(R_{n}^{y}f\right)(x,y)\right| \leq \frac{h^{2}}{8n}M_{02}f, \ (x,y) \in T_{h}.$

3. PRODUCT OPERATORS

Let $P_{mn} = B_m^x B_n^y$ respectively $Q_{nm} = B_n^y B_m^x$ be the products of operators B_m^x and B_n^y .

We have

$$(P_{mn}f)(x,y) = \sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}(x,y) q_{n,j}\left(i\frac{h-y}{m},y\right) f\left(i\frac{h-y}{m},j\frac{(m-i)h+iy}{mn}\right).$$

REMARK 4. The nodes of the operator P_{mn} are as in the Figure 2, for $i = \overline{0, m}, j = \overline{0, n}$, and $y \in [0, h]$.



Fig. 2. Nodes of operator P_{mn} .

THEOREM 4. The operator P_{mn} satisfies the following relations:

- (i) $(P_{mn}f)(x,0) = (B_m^x f)(x,0),$
- (ii) $(P_{mn}f)(0,y) = (B_n^y f)(0,y),$
- (iii) $(P_{mn}f)(x, h-x) = f(x, h-x), \quad x, y \in [0, h].$

The proofs follow by a straightforward computation. The property (i) or (ii) imply that $(P_{mn}f)(0,0) = f(0,0)$.

REMARK 5. The product operator P_{mn} interpolates the function f at the vertex (0,0) and on the hypothenuse x + y = h of the triangle T_h .

The product operator Q_{nm} , given by

$$\left(Q_{nm}f\right)\left(x,y\right) = \sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}\left(x,j\frac{h-x}{n}\right) q_{n,j}\left(x,y\right) f\left(i\frac{(n-j)h+jx}{mn},j\frac{h-x}{n}\right)$$

has the nodes as in Figure 3, for $i = \overline{0,m}, j = \overline{0,n}, x \in [0,h]$, and the



Fig. 3. Nodes of operator Q_{nm} .

properties

(i') $(Q_{nm}f)(x,0) = (B_m^x f)(x,0),$ (ii') $(Q_{nm}f)(0,y) = (B_n^y f)(0,y),$ (iii') $(Q_{nm}f)(h-y,y) = f(h-y,y), \quad x,y \in [0,h].$

Let us consider the approximation formula

$$f = P_{mn}f + R_{mn}^P f.$$

THEOREM 5. If $f \in C(T_h)$ then

(10)
$$\left| \left(R_{mn}^P f \right)(x,y) \right| \leq (1+h) \,\omega \left(f; \frac{1}{\sqrt{m}}, \frac{1}{\sqrt{n}} \right), \quad (x,y) \in T_h.$$

Proof. We have

$$\begin{split} \left| \left(R_{mn}^{P} f \right)(x,y) \right| &\leqslant \left[\frac{1}{\delta_{1}} \sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}\left(x,y\right) q_{n,j}\left(i\frac{h-y}{m},y\right) \left| x - i\frac{h-y}{m} \right| \\ &+ \frac{1}{\delta_{2}} \sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}\left(x,y\right) q_{n,j}\left(i\frac{h-y}{m},y\right) \left| y - j\frac{(m-i)h+iy}{mn} \right| \\ &+ \sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}\left(x,y\right) q_{n,j}\left(i\frac{h-y}{m},y\right) \right| \omega\left(f;\delta_{1},\delta_{2}\right). \end{split}$$

After some transformations, one obtains

$$\sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}(x,y) q_{n,j}\left(i\frac{h-y}{m},y\right) \left|x-i\frac{h-y}{m}\right| \leqslant \sqrt{\frac{x(h-x-y)}{m}}$$
$$\sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}(x,y) q_{n,j}\left(i\frac{h-y}{m},y\right) \left|y-j\frac{(m-i)h+iy}{mn}\right| \leqslant \sqrt{\frac{y(h-x-y)}{m}},$$

while

$$\sum_{i=0}^{m} \sum_{j=0}^{n} p_{m,i}(x,y) q_{n,j}\left(i\frac{h-y}{m},y\right) = 1.$$

It follows,

$$\left| \left(R_{mn}^P f \right)(x,y) \right| \leqslant \left(\frac{1}{\delta_1} \sqrt{\frac{x(h-x-y)}{m}} + \frac{1}{\delta_2} \sqrt{\frac{y(h-x-y)}{m}} + 1 \right) \omega\left(f;\delta_1,\delta_2\right).$$

Taking into account that

$$\frac{x(h-x-y)}{m} \leqslant \frac{h^2}{4m}, \quad \frac{y(h-x-y)}{n} \leqslant \frac{h^2}{4n},$$

one obtains

$$\left(R_{mn}^{P}f\right)(x,y) \leqslant \left(\frac{1}{\delta_{1}}\frac{h}{2\sqrt{m}} + \frac{1}{\delta_{2}}\frac{h}{2\sqrt{n}} + 1\right)\omega\left(f;\delta_{1},\delta_{2}\right),$$

hence

$$\left| \left(R_{mn}^P f \right)(x,y) \right| \leq (1+h) \, \omega \left(f; \frac{1}{\sqrt{m}}, \frac{1}{\sqrt{n}} \right).$$

4. BOOLEAN SUM OPERATORS

Let

$$S_{mn} := B_m^x \oplus B_n^y = B_m^x + B_n^y - B_m^x B_n^y,$$

$$T_{nm} := B_n^y \oplus B_m^x = B_n^y + B_m^x - B_n^y B_m^x,$$

be the Boolean sums of the Bernstein-type operators B_m^x and B_n^y .

THEOREM 6. If f is a real-valued function defined on T_h then

$$S_{mn}f\Big|_{\partial T_h} = f\Big|_{\partial T_h}.$$

Proof. We have

$$S_{mn}f = \left(B_m^x + B_n^y - B_m^x B_n^y\right)f$$

The interpolation properties of B_m^x , B_n^y and the properties (i)–(iii) of the operator P_{mn} imply that

$$(S_{mn}f)(x,0) = (B_m^x f)(x,0) + f(x,0) - (B_m^x f)(x,0) = f(x,0),$$

$$(S_{mn}f)(0,y) = f(0,y) - (B_n^y f)(0,y) + (B_n^y f)(0,y) = f(0,y),$$

$$(S_{mn}f)(x,h-x) = f(x,h-x) + f(x,h-x) - f(x,h-x) = f(x,h-x),$$

for all $x, y \in [0,h].$

Let $R^S_{mn}f$ be the remainder of the Boolean sum approximation formula

$$f = S_{mn}f + R_{mn}^S f.$$

THEOREM 7. If $f \in C(T_h)$ then

$$\begin{split} \left| \left(R_{mn}^S f \right)(x,y) \right| &\leqslant \left(1 + \frac{h}{2} \right) \omega \left(f\left(\bullet, y \right); \frac{1}{\sqrt{m}} \right) + \left(1 + \frac{h}{2} \right) \omega \left(f\left(x, \bullet \right); \frac{1}{\sqrt{n}} \right) \\ &+ \left(1 + h \right) \omega \left(f; \frac{1}{\sqrt{m}}, \frac{1}{\sqrt{n}} \right), \quad (x,y) \in T_h. \end{split}$$

Proof. From the equality

$$f - S_{mn}f = f - B_m^x f + f - B_n^y f - (f - P_{mn}f)$$

one obtains

$$\left| \left(R_{mn}^{S} f \right)(x,y) \right| \leq \left| \left(R_{m}^{x} f \right)(x,y) \right| + \left| \left(R_{n}^{y} f \right)(x,y) \right| + \left| \left(R_{mn}^{P} f \right)(x,y) \right|.$$

Now, from (2), (7) and (10), the proof follows.

Now, from (2), (7) and (10), the proof follows.

REMARK 6. Analoguous relations can be obtained for the remainders of the product approximation formula

$$f = Q_{nm}f + R^Q_{nm}f = B^y_n B^x_m f + R^Q_{nm}f$$

and for the Boolean sum formula

$$f = T_{nm}f + R_{nm}^T f = (B_n^y \oplus B_m^x) f + R_{nm}^T f.$$

5. EXAMPLES

Finally, one considers two test functions, generally used in literature (see, e.g. [22])

$$f_1(x,y) = \frac{1}{3} \exp\left[-\frac{81}{16} \left(\left(x - \frac{1}{2}\right)^2 + \left(y - \frac{1}{2}\right)^2\right)\right],$$

$$f_2(x,y) = \frac{1}{6} \frac{\frac{5}{4} + \cos\frac{5}{4}y}{1 + (3x - 1)^2}.$$

In FIGURE 4 we plot the graphs of f_1 and f_2 .

FIGURE 5 and FIGURE 6 contain the graphs of $B_m^x f$, $B_n^y f$, $P_{mn} f$, $S_{mn} f$, with h = 1, m = 5, n = 6, for f_1 and f_2 respectively.







Fig. 6. Graphs of $B_m^x f_2$, $B_n^y f_2$, $P_{mn} f_2$, and $S_{mn} f_2$.

REFERENCES

- BARNHILL, R. E., Surfaces in computer aided geometric design: survey with new results, Comput. Aided Geom. Design, 2, pp. 1–17, 1985.
- [2] BARNHILL, R. E., BIRKHOFF, G. and GORDON, W. J., Smooth interpolation in triangle, J. Approx. Theory, 8, pp. 114–128, 1973.
- [3] BARNHILL, R. E. and GREGORY, J. A., Polynomial interpolation to boundary data on triangles, Math. Comp., 29, no. 131, pp. 726–735, 1975.
- [4] BARNHILL, R. E. and MANSFIELD, L., Error bounds for smooth interpolation in triangles, J. Approx. Theory, 11, pp. 306–318, 1974.
- [5] BARNHILL, R. E. and MANSFIELD, L., Sard kernel theorems on triangular and rectangular domains with extensions and applications to finite element error, Technical Report 11, Department of Mathematics, Brunel Univ., 1972.
- [6] BERNARDI, C., Optimal finite-element interpolation one curved domains, SIAM J. Numer. Anal. 26, no. 5, pp. 1212–1240, 1989.
- [7] BÖHMER, K. and COMAN, GH., Blending interpolation schemes on triangle with error bounds, Lecture Notes in Mathematics, 571, Springer Verlag, Berlin, Heidelberg, New York, pp. 14–37, 1977.

- [8] BOJANOV, B. and XU, Y., On polynomial interpolation of two variables, J. Approx. Theory, 120, no. 2, pp. 267–282, 2003.
- CĂTINAŞ, T. and COMAN, GH., Some interpolation operators on a simplex domain, Stud. Univ. Babeş-Bolyai Math., 52, no. 3, pp. 25–34, 2007.
- [10] COMAN, G. and BLAGA, P., Interpolation operators with applications (1), Sci. Math. Jpn., 68, no. 3, pp. 383–416, 2008.
- [11] COMAN, G. and BLAGA, P., Interpolation operators with applications (2), Sci. Math. Jpn., 69, no. 1, pp. 111–152, 2009.
- [12] COMAN, GH., CĂTINAŞ, T., BIROU, M., OPRIŞAN, A., OŞAN, C., POP, I., SOMOGYI, I. and TODEA, I., *Interpolation Operators*, Ed. Casa Cărții de Știință, Cluj-Napoca, 2004.
- [13] COMAN, GH. and GÂNSCĂ, I., Blending approximation with applications in construction, Bul. Şt. Inst. Pol. Cluj-Napoca, 24, pp. 35–40, 1981.
- [14] COMAN, GH., GÂNSCĂ, I. and ŢÂMBULEA, L., Surfaces generated by blending interpolation, Stud. Univ. Babeş-Bolyai Math., 38, pp. 39–48, 1993.
- [15] COONS, S. A., Surface for computer aided design of space forms, Project MAC, Design Div., Dep. of Mech. Engineering, MIT, 1964.
- [16] HALL, C. A., Bicubic interpolation over triangles, J. Math. Mech., 19, pp. 1–11, 1969.
- [17] HULME, B. L., A new bicubic interpolation over right triangle, J. Approx. Theory, 5, pp. 66–73, 1972.
- [18] MARSHALL, J. A. and MITCHELL A. R., An exact boundary technique for improved accuaracy in the finite element method, J. Inst. Math. Appl., 12, pp. 355–362, 1973.
- [19] MARSHALL, J. A. and MITCHELL A. R., Blending interpolants in the finite element method, Internat. J. Numer. Methods Engrg., 12, pp. 77–83, 1978.
- [20] MITCHELL A. R. and MCLEOD, R., Curved elements in the finite element method, Conference on Numer. Sol. Diff. Eq. Lecture Notes in Mathematics, 363, Springer Verlag, pp. 89–104, 1974.
- [21] NIELSON, G. M., THOMAS, D. H. and WIXOM, J. A., Interpolation in triangles, Bull. Austral. Math. Soc., 20, no. 1, pp. 115–130, 1979.
- [22] RENKA, R. J. and CLINE, A. K., A triangle-based C¹ interpolation method, Rocky Mountain J. Math., 14, no. 1, pp. 223–237, 1984.
- [23] SARD, A., *Linear Approximation*, American Mathematical Society, Providence, Rhode Island, 1963.
- [24] SCHUMAKER, L. L., Fitting surfaces to scattered data, Approximation Theory II (G. G. Lorentz, C. K. Chui, L. L. Schumaker, eds.), Academic Press, pp. 203–268, 1976.
- [25] SENDOV, B. and ANDREEV, A., Approximation and interpolation theory. Handbook of numerical analysis (P. G. Ciarlet and J. L. Lions, eds.) Vol. III, pp. 223–462, North-Holland, Amsterdam, 1994.
- [26] STANCU, D. D., Généralisation de certaines formules d'interpolation pour les fonctions de plusieurs variables; quelques considérations sur la formule d'intégration numérique de Gauss (Romanian), Acad. R. P. Romîne. Bul. Sti. Sect. Sti. Mat. Fiz., 9, pp. 287–313, 1957.
- [27] STANCU, D. D., A method for obtaining polynomials of Bernstein type of two variables, Amer. Math. Monthly, 70, pp. 260–264, 1963.
- [28] STANCU, D. D., Evaluation of the remainder term in approximation formulas by Benstein polynomials, Math. Comp., 17, pp. 270–278, 1963.
- [29] STANCU, D. D., The remainder of certain linear approximation formulas in two variables, SIAM Numer. Anal. Ser. B, 1, pp. 137–163, 1964.
- [30] STANCU, D. D., Approximation of bivariate functions by means of some Bernstein-type operators, Multivariate approximation (Sympos., Univ. Durham, Durham, 1977), pp. 189–208, Academic Press, London-New York, 1978.

- [31] STANCU, D. D., COMAN, G., AGRATINI, O. and TRÎMBIŢAŞ, R., Numerical analysis and approximation theory, Vol. I (Romanian), Presa Universitară Clujeană, Cluj-Napoca, 2001.
- [32] STEFFENSEN, J. F., Interpolation, 2d ed., Chelsea Publishing Co., New York, 1950.
- [33] ZLAMAL, M., Curved elements in the finite element method, SIAM Numer. Anal., 10, pp. 229–240, 1973.

Received by the editors: February 16, 2009.